

Florida Department of Transportation



Vendor Ranking

Page 1 of 1

Letting: 01220113 January 13, 2022 11:00 AM **Call Order:** 005 **Contract:** E1V02-R0

District: District 1 Counties: DESOTO, DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

HARDEE

Project(s): 43265017265 (*)

Contract Desc: Ditch Cleaning and Reshaping

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$96,000.00	100.00%
2	MOVING EARTH INC.	Responsive	Non-Winning Bid	\$123,120.00	128.25%
3	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$132,850.00	138.39%
4	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$166,150.00	173.07%
5	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$197,050.00	205.26%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Page 1 of 3

Florida Department of Transportation



Tabulation of Bids

Contract: E1V02-R0

Letting: 01220113 January 13, 2022 **Call Order:** 005

District: District 1 Counties: DESOTO, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE, HARDEE Project(s): 43265017265 (*)

Contract Descr: Ditch Cleaning and Reshaping

The work under this Contract consists of DITCH CLEANING AND RESHAPING.

Line No / Iten		Alternate	Quantity Units	(1) MIDWI CONSTRUC		(2) MOVING	EARTH INC.		CTOR SERVICE
() indicates iter	n is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ROADSIDE DITCHES-CLEAN AND RESHAPE (LF									
0005 0120 9 DITCH CLEARIN VEGETATION, D	G OF LARG	_	1,000.000 LF 15'	7.00000	7,000.00	1.50000	1,500.00	2.25000	2,250.00
0010 0120 9 DITCH CLEARIN VEGETATION, D	G OF LARG	_	1,000.000 LF	8.00000	8,000.00	1.00000	1,000.00	2.25000	2,250.00
0015 0120 9 DITCH CLEARIN VEGETATION, D THAN 30'	G OF LARG	_	1,000.000 LF ER	10.00000	10,000.00	1.00000	1,000.00	2.25000	2,250.00
0020 E120 10 CLEAN AND RES (SPREAD)		СН	22,000.000 LF	0.50000	11,000.00	2.71000	59,620.00	2.55000	56,100.00
0025 E120 10 CLEAN AND RES	_	CH (HAUL	20,000.000 L) LF	3.00000	60,000.00	3.00000	60,000.00	3.50000	70,000.00
0001 ROADSIDE DITCHES- Section Totals: CLEAN AND RESHAPE (LF)				\$96,000.00		\$123,120.00	l	\$132,850.00	

Contract Grand Totals:	\$96,000.00	\$123,120.00	132,850.00



Page 2 of 3

Florida Department of Transportation



Tabulation of Bids

Letting:	0122	20113 Ja	anuary 13, 20	22 Ca l	II Order: 005		Contract:	E1V02-R0	
Line No / Item Desc		Alternate	Quantity Units	(4) ROGAR MA CONSULTING	OF FLORIDA	(5) WRA CONSTRUC			
() indicates	item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0	001 (ROADSIDE DI	TCHES-CLEAN A	ND RESHAPE (L	F			
DITCH CLEA		ARGE /IDTH UP TO	1,000.000 LF 15'	4.11000	4,110.00	7.10000	7,100.00		
0010 0120 DITCH CLEAN VEGETATION			1,000.000 LF	6.11000	6,110.00	10.00000	10,000.00		
DITCH CLEA		ARGE /IDTH GREATI	1,000.000 LF ER	5.11000	5,110.00	20.75000	20,750.00		
0020 E120 CLEAN AND (SPREAD)) 10 1 RESHAPE	DITCH	22,000.000 LF	2.21000	48,620.00	2.60000	57,200.00		
0025 E120	10 2		20,000.000	5.11000	102,200.00	5.10000	102,000.00		
CLEAN AND	RESHAPE	DITCH (HAUL	.) LF						
	DADSIDE D AND RESH	DITCHES- Sec APE (LF)	etion Totals:		\$166,150.00		\$197,050.00		
	C	Contract Gra	nd Totals:		\$166,150.00		\$197,050.00		



Florida Department of Transportation

01/13/2022

Tabulation of Bids

Page 3 of 3

E1V02-R0

Letting: 01220113 January 13, 2022 **Call Order:** 005 **Contract:**

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.